RED nch-
R >
<

LIMB RISERS

(2007-2018 WRANGLER JK)

INSTALLATION INSTRUCTIONS

CONTENTS

(2) Limb Riser Cables

(2) Windshield Frame Brackets
(2) Hood Latch Brackets

(2) M8x20mm Tapered Bolts
(2) M8 Flat Washers

(2) M8 Lock Nuts

(6) Rivets

TOOLS REQUIRED

10mm Socket
5mm Allen Socket
Socket Wrench
10mm Wrench
13mm Wrench
Rivet Gun

Drill

9/64 Drill Bit
Permanent Marker

SKU # J141418



"
REDROCK=
X

STEP1

Open the hood on the vehicle. Remove (2) 10mm nuts to remove the hood latch from the vehicle.

STEP 2

Place the hood mounting bracket onto the hood latch location, then reinstall the hood latch to the
vehicle reusing original hardware. Be sure the mounting bracket is in the correct orientation for
proper fit.



"
REDROCK=
X

STEP 3

Using the windshield frame bracket as a template, mark the (3) holes in the bracket for drilling
into the windshield frame. Drill the holes using a 9/64th drill bit. Using a rivet gun and provided
(3) rivets, secure the windshield frame bracket to the vehicle.

STEP 4

Attach the limb riser cable to the hood mounting bracket. Place the cable around the bracket. Install
the pin and clip to secure the cable to the bracket.



"
REDROCK=
X

STEP S

Choose the appropriate mounting location for the limb riser cable. Install the limb riser cable to
the windshield mounting bracket using (1) M8x20mm Allen bolt, (1) M8 flat washer, and (1) M8
locking nut. Tighten until secure.

STEP 6

Adjust the tension rods evenly to the desired tension. Tighten the jam nuts using a 10mm wrench.
Repeat steps 1-5 on the opposite side.

Installation is now complete.



	J141418 - RedRock 4x4 - Limb Risers (07-18 JK)-01
	J141418 - RedRock 4x4 - Limb Risers (07-18 JK)-02
	J141418 - RedRock 4x4 - Limb Risers (07-18 JK)-03
	J141418 - RedRock 4x4 - Limb Risers (07-18 JK)-04

